SAP ABAP table TIMEDEPENDENTDATA {Time-dependent allocations}

TIMEDEPENDENTDATA-INTERN ORD = AUFK-AUFNR

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

—_ = = — — —_

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

-

TIMEDEPENDENTDATA-LOCATION = T499S-STAND

-~

~
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0..N

~N

DATBI [DATS (8)]

CSLA
MANDT [CLNT (3)]
KOKRS [CHAR (4)]
LSTAR [CHAR (6)]
DATBI [DATS (8)]

TOO1lW

MANDT [CLNT (3)]

WERKS [CHAR (4)]

T499S

-

0..N

MANDT [CLNT (3)]

WERKS [CHAR (4)]

STAND [CHAR (10)]

TGSB
MANDT [CLNT (3)]
GSBER [CHAR (4)]




